( 250100)

200437
1SO
1UPAC GB
1 standard volumetric solution
1.1
1.2
1.2.1
a B
b Cs
C. “ mol/m*

“ mol/L” 1mol/dm®
d. SI ( “ mol” )
0.012kg -12



e.

c(NaOH) 0.1015mol/L NaOH
c(NaOH) NaOH
0.1015mol/L 0.1015 1
X x 0.1015
c(1/2H,80,) 0.2042mol/L 1/2H,50,
0.2042 1/2x x 0.2042
c(1/5KMn0,) 0.1000mol/L 1/5KMnO,
0.1000 1/5x x 0.1000
c(1/6KLCr,0,) 1.0042mol/L 1/6 K.LCr,0;
1.0042 1/6x% X
1.0042
c(1/2Ca™) 1.0035mol/L 1/2 ca*
1.0035 1/2x x 1.0035
1.2.2
a. ( )
b. ps: B
C. “ kg/m” * kg/L” (1kg/L 10°kg/ m* 1kg/d
m*) “g/L” “ mg/L” “ mg/mL” “ p g/mL”
d.
P e

p (Na,CO;) 0.5021mg/mL

0.5021

P we A

p (CI'/AgNO;) 0.5000mg/mL
0.5000mg

1.3

ImL



2.2

2.3

C(1/6KLr.0,) 0.6022mol/L

2003-03-20

standard reference solution

1.1.2

1.1.3

standard solution



3.2

a.
( )
b p: B
C. “ kg/m” “ kg/L” (lkg/L 10°kg/ m® 1kg/d m%)
“ g/L” * mg/L” “ u g/mL”
d.
p (Zn*) 2y g/mL s
p (Zn*) 2y g/mL p (Zn*™) 2.000u g/mL
p (Ag) 1.5up g/mL p (Ag) 1.500up g/mL
3.3
1.1.3 , :
p (Pb) 1y g/mL
1 HNO, 17
2005-02-10
X X X 2’
1 HNO;
(O
Ps
40g/L NaOH p s( )

4 standard matching solution



4.1

(
4.2
1.2 2.2 3.2
4.3
5 ( )
5.1
5.1.1 Co

c(HCI) 4mol/L

5.1.2 P
P
Ps
, 20g/L KI
5.1.3 Ws
a.

Cs

] g/LH

100mL  KI
29/100mL

KI 2g



1] ” 1] 1”

100g  HCI 10g  Hcl

5.1.4 Qs

“ 111

100mL HNO; 1mL
HNO;

¢o:( 3.3 )
5.1.5 V. V,

3 7 3 7

H.S0,+H;P0,+H,0(1.5+1.5+7) 1.5

5.2

H.S0,

1.5

w (HCD 10

(O
100mL 75mL

@ (HNO;) 1

HCI(L 2)

H.PO, 7



5.2.1 Cs

Ce

c(HCl) 1.5mol/L c(HC)  1.500mol/L
5.2.2 P
P
5.2.3
(}.)B wB
w (HCI1) 10 w (NaCl) 5
2001-03-08 2002-06-18
X X X X X X
@ (NH;- H,0) 5
2005-05-20
X X X
5.2.4 Qs
(]



5.2.5

5.2.6

@ (CHOH) 75 @ (HC1) 5
2005-05-16 2004-10-22
X X X X X X
Vi V,
Vi Vs
1 2 3 7
2004-08-10 2004-10-10
X X X X X X
H,S0,
1.5 1.5 7
2004-10-10
HOAc-NaOAc
pH 6

X X 2006-03-01




5.2.7

1

2 .

3 GB 3102.8-1993

4 GB/T 20001.4-2001

2003

2005



